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Unleash the topper in you

reurrat (Trigonometry)

eI PreTsT
1. er s 50t ve @vr 90° @ @Y, ag 2w e @eemar 1 A
2. o fyegs Bt H oS @ @Y Fed B |

* ABC U% 2Waivl o5 3 318 BWR 2widivr § | ACEY B |

e /C3 fHT BC 416 7 ABTE &N |

o /AD fHE AB ZremR @ BC@w BT | B

UISRAEN22T U,
(@)’ = (FmeR)’ + (ewa)?

(AC)> = (AB?) + (BC)?

gt @ Prwfiaer ggona
3. 5t 2w e & el & oFmdt 3 gguma @ Peviae ggvia @ad B |
4. 03 fou =gl @#a ABa Frem2 BCEWN |

sinB=E=ﬁ cosezﬂzE
o AC a0 AC
\tan9=ﬁ=E cot9=@=§
grem BC @r¥ AB
a1 AC a1 AC
sec0=——=— cosecf=—=—
grem?  BC @7 AB
Trick:-
sin cos tan
T T T L = oo d
L A L A = GIEmR
K K A K = 30T
{ { !
cosec sec cot

FUIdl B AL ZidEn

(i) sinO.cosecO =1 = sinO =1/ cosecO
(ii) tanB.cotd=1 = tanO=1/cotb

(iii) cosO.secO=1 = cosO = 1/secO

(iv) tanO =sinO / cosO

(v) cotO =cosO /sind
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Unleash the topper in you

Tt

St B R ageter 3 Prs

i ngefar | wemr =gefe

(sin®, cosecH) A (All Positive)

X - > X

gar agefer gt gt

(tan0, cotO) (cos0, sech)

Trick — ASTC (After school to College)

| Igeifer 3 29 gguia e
Il’ﬂlg%ﬁﬂ # sin, cosec?f eleTTcAGD
Il =igefer 3 tan, cot & @S
IV?J@?JT?I # cos, sec &t ereNcHAB

(90°-0) @ Praviaa ggua (90°+0) @ Prvlid gguma

sin (90— 6) = cosB sin (90 + 6) =cos O
cos (90 — 0) = sinO cos (90 + 0) = —sin®
tan (90 — 0) = cotO tan (90 + 0) = — cotO
cot (90-0)=tan 0 cot (90 + 0) = —tan0
sec (90 — 0) = cosecH sec (90 + 0) = —cosecO
cosec (90— 0) = sec O cosec (90 + 0) = secH

Note — (90° + 0) &t feRm@ # gguna change 81aTT |

(270 + 0) Bt foifyr &@mchange@?ﬂ |
(180+0)F (360+0) @t f2eifa # ggura change & Bram

Usaa a 54 3 Zidg

180° = 1 2f5Fa

10

= (r/180) 2f3Ia

12fxa = (180/n) {53
R d A9H BT
IfE G BV ad b dd
a+b=90° (Y& BIVT o)
a+b=180° (U@ BT FoA)

(180+6 )@ Preptviiatsr gguma
sin (180 + 6) = —sinB

cos (180 + 0) = - cosO

tan (180 + 0) = tan0

cot(180 + 0) = cotO

sec (180 + 0) = —secO

cosec (180 + 0) = —cosecH
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Unleash the topper in you

o™ BT 3 PEVPEE sgu

BT
0° 30° 45° 60° 90°
&gI1d
1
sinO 0 % E ? 1
1
cosB 0 ? 3 % 0
1
tan0 0 ﬁ 3§ \E )
1
cotd 00 \/5 1 E 0
2
secH 1 ﬁ ﬁ 2 o0
2
cosecO o0 2 ﬁ E i |
%8 Ageayyl @ @ B ggumd
0 15° 18° 36° 75°
sin0 e J5-1 17 B+1
—+10-2+/5
242 4 4 V5 2.J7
cosH J3+1 1 501 J3-1
—4/10+2+/5
22 4 Vs 4 242
tand 2-\3 251015 5-2/5 V3+1
5 v3-1
Preprorfialer zdzife

(1) sin?0+cos?0 =1

(2) sec’0-tan?0=1

(3) cosec?0—cot?0=1

e St @1 uReR

(i) sinO @2 cos® T AT BALM +1812 — 13 a7 BT B Fad: —1 <sinO, cosO <1

(i) 1<cosecH<-1
1<secH<-1

(i) tan07 cotd —0 & +00d® FB A B AHar B |
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Unleash the topper in you

Prepda weret @ Asad (Maximum) 3 #gaaa (Minimum) 7

A wee Minimum Maximum
sin@ -1 1
cosO -1 1
K sin nO -K K
K cos nO - K K
asin® + b cosO —Ja’ +b’ a2 £h
b sin® + a cosd ~alatuwb? Jat +b?
a sinO —b cosO —Ja% +b? a’+b’
asin’0 + b cosec?0 2+/ab agt forpen 31 2@ar
acos?0 + b sec?0 2+/ab -
a tan?0 + b cot?0 2+/ab -
1 1
sin0 . cosH - —
2 2
sin® + cosO il \/z
asin?0 + b cos20 b .
(a>b)
asin?0 + bcos?0 . b
(a<h)

Maximum B4 Minimum #leT Jd &2 @ fOU ZAwaR A1ed
2ase &1 A Hd B |
AM.>GM.

Yy
X+y+z
3

%8 Agaqyl Havithaa

(1) sin (A + B)=sinAcosB +cosAsinB
(2) sin(A—B)=SinAcosB—-cosAsinB
(3) cos(A+B)=cosAcosB-sinAsinB
(4) cos(A—B)=cosAcosB+sinAsinB

= 3xyz

tanA+tanB
(5) tan(A+ B)=
1—-tanAtanB
tanA—tanB
(6) tan(A—B)= —on~Tten
1+tanAtanB

cotA.cotB—1
cotA+cotB

(7) cot(A+ B) =

(AM.) T IUIeR 71T (G.M.) B
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Unleash the topper in you

cotA.cotB+1

(8) cot(A—B) =
cotB—cotA
(9) 2sin AcosB=sin(A+B)+sin(A—B)
(10) 2 cos A sin B =sin (A + B) —sin (A—B)
(11) 2 cos Acos B =cos (A +B)+cos(A-B)
(12) 2 sin Asin B = cos (A —B)—cos (A +B)
(13) sin(A + B).sin (A — B) = sin?A — sin®B = cos?B — cos? A
(14) cos (A+ B).cos (A — B) = cos?A — sin’?B = cos’B — sin’A
(15) sinC + sinD = 2 sin ((C:D)) .COS ((C;D))
(16) sinC — sinD = 2 cos ((C:D)).sin (@)

(17) cosC + cosD = 2 cos (@) G5 ((C;D))

(18) cosC — cosD = 2 sin (%) sin (?)

(19) sin24 = 2 sinA cosA = ———
1+ tan<A
s 2
(20) cos2A = cos?A — sin?4A =1 — 2 sin®?4 = 2cos?4A -1 = 1 tarle
1+tan?4
(21) tan24 = Zfanf
1-tan<A

(22) 2sin%0 =1 - cos20
(23) 2 cos’0 =1+ cos20

(24) sin(—x)=—sinx;cos(—x) = cosx;tan(—x) = —tanx

et o ozt @ Ziget & cosa sin@ g
ABCT® ot & f3rewt a,ba c bt IEmgt B Am B |

cosine Formula

At g S D
(i) CosA:u
2bc
2 2 2
(ii) ggEB=2 =
2ac
2 2 .2
(iii) cosC=m B
2ab

Sine Rule

2 09 (5&¥ R=uRga # frsen)

sinA - sinB B sinC a
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Unleash the topper in you

B 2Afsa 3@IEor
UTSAN22T TR

afs vw 2w B ABCH, £B uw awdvr 3 aem Ac= 2V5 24 B | aegeR,

afs AB-BC= 2 2% &, & (cos?A — cos?C) =1 7 = @am 1

(a) 2/5 (b) 8/5 (c) /5 (d) 3/10
e 5 AB = (x+2) 2f
A
~ BC=x ot
%4, 2y/5
(2V5)2 = X2 + (x+2)? 4

=  20=x>+x*+4+4x B C
= 2x*+4x-16=0

= x*+2x-8=0

= 2X*+4x-2x —16=0

W X=2

%d, (cos*A — cos?*C)

L (L)z ! (L)z _16_4 _12_3

— V20 v20/ ~ 20 20 20 &5
af c059=%§r, ar tanB=2?

(a) % (b) 3.5 (c) 3.75 (d) 4
cosB = - 3
b 1 a
= u (
:-P=\fh2—b2=\/32—12=\/§:2\ff 1
sm9+tan9-2 - &+&= Lo
h g 3 1 3

Axyzﬁ £y =90°, xy =26 a°I xz —yx =2 aY secx + tanx =?

(a) Rs. 22.50 (b) Rs. 27.30 (c) Rs. 28.80 (d) Rs. 29
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Unleash the topper in you

B (2V6 )2 +a’=(a+2)?

X
24 + 25 =(5+2)?
2v6 (a+2) =4
sLa=5
a @l A 220 ) 4 z
5 2
secx + tanx = 7 = ) NG

Ve TE e
3GL4 A cosec A=V10E @ cotA. sinA. cosA @& Ale faar dlem 7 0 ??J,?IEEM [

Bl cosecB=$—lTrf = @=V10
— 1

U U & , gmeme=+/(10)2 — (1)2 = V10—-1=3

&Iene = 3
3
cotA= TR = =3
GEz | 1
sinA= 2% =1
FHuf 10
_ &R _ 3
cos A= — T
. 1 i NG
cotA.smA.cosA—3xﬁxﬁ_m

2aa aon 55 # e
1.1 ﬁ%ﬁwmm%maazawmm%ﬁmﬂ?

BT - 25 =180°
., 3rm . E o
“ = = X 180
A 25180 . geap - i089
5 5
3.2 63° 14’ 51”7 A% @1 A5ga A B 1
(@) (3000 ) (b) (8000 )
4811m\°€ 58117\ €
(C) (8000) (d) (8{]00)
& (a)
1 geT = 3600 2&v3, 1 g = 60 fiec
~63+ 24 51 _ 226800+840+51 _ 227691 _ 75897
60 3600 3600 3600 1200
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Unleash the topper in you
s
ga, 1°= — 2=
: 180
, 75897  m _ (2311?r)c
* 1200 7 180 ~ \ 8000

3.3 P ABC &, 4ABC=75°m4ACB=§.ABACW A AV J1a FA 1

5t T )
(a) —— radian (b) — radian
12 3

radian

& (b)

T

Given ZABC = 75° and £ ACB = % rad = (Z X

=(60><L)=

T "
— radian
180 3

o B
.4 ©F PEgs ABC %, LABC=75° aoI LACB=-

( ) i ( ) i ( )

T
(d) — radian
2

&1 (b)

n 180

= 45°

4 4
ZBAC =180° - 75° - 45° = 60°
180° - 1
T2 Gl

180°
60° - —— X 60° =

180°

ViR .
= radian

© 51 di d 57
c) — radian —
6 2

TEON o
+) =4
ar £LBAC@ gl A 1d & |

n

e radian

5w B & & o @ e 135° B 3R s gR B A 2w At B e Ber ¢

(a) = (b) i
“8 5
g1 (c)

Let a, b and c angles of triangle:

a+b=135°

a-b=—=15°

12
a=75%b=60°

c=180°- 75° - 60° = 45°

5m
(c) 12

Greater angle = 75° =

gy =
()5

5
12
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Unleash the topper in you

Thads

7 BT B AAVERE ggua

.1l AE0UF FYF@VT T AR tan (40 - 50°) = cot (50°- 0), T A0 AW 5 F am
g 1
(a) 30 (b) 40 (c) 50 (d) 20
&1 (a)
& SEd & -
tan (90°-0)=cot O
and cot (90°-0)=tan 0
= tan (40 - 50°) = cot (50° - )
= cot(90° - (48 - 50°) = cot (50° - 6)
= 90° - (40 - 50°) =50°-0
= 90°-40 +50°=50°-0
= 90° = 30 then 8 = 30°
2 "4 Method

tan(40-50°) = cot(50°-0)

A% 0F A3 B2 90° B aUAR HR & |
40—50°+50°—0=90°

30=90°

0=30°

312 M tan (20 +45°) = cot 30 3BT (20 + 45°) 72N 30 7YGTHVT & - ad@ OB A ?
(a) 5° (b) 9° (c) 12° (d) 15°
&1 (b)
tan (20 + 45°) = cot 30 = tan (90° - 30)
~20+45°=90-30
50=45=0=9°

2" Method
tan (26 +45°)=cot3 46

20 +45° + 360 =90°

56 =45°

A=9°
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Unleash the topper in you

T

3.3 A sin(60-0) =cos (-30°)3, @ tan(-0) T (A & & 0 4R .. Jat gEEE 74
31 g,) 6 < 60° 4R .. > 30° B M)

1
(@) 5 (b) 0 (c) V3 (d) 1

&1 (c)
sin (60° - B) = cos (- 30°)
sin (60° - B) = sin [90 — (- 30°)]
60° -0 =90° +30°
-8 =90°+ 30° - 60° = 60°
tan (- 0) = tan 60° = /3

2"¢ Method

sin (60° - B) = cos (- 30°) B drtan (- 0) =7
60°—0-30°=90°

60°—-0=120°

-0=60°

tan(-0) = tan60° = 3

gguial & fafhea =gefen & faes
3.1 cot 12°. cot 38° cot 52° cot 60° cot 78° = ?

B  cot 12°. cot 38° cot 52° cot 60° cot 78°
=(cot 12° cot 78°) . (cot 38° cot 52°). cot 60°
= [cot 12° cot (90° - 12°)] . [cot38° . cot(90° -38°)] cot 60°

=[cot 12° . tan 12°] [cot 38° . tan 38°] cot 60°

_ 2 e - Bl 0
—1><1><\/i [+ cot.tan =1 & cot 60 _ﬁ]
1

V3

2" Method

cot12°. cot38° cot52° cot60°cot78°="
<& BT

& & @V @ Aer 90° & A 1 Ui glan |
cot(12°+78°).cot(38°+52°) cotb60°®

i _ i
Ix1x—==——
NERIVE]
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Unleash the topper in you

3.2 Afs cos(a+P)=0 & a sin(a-PB)=?
A cos(a+f)=0
= cos (a + [3) = cos 90°
= o+ =90°
= o =(90°-f)
(- B) = (90° - 2B)
= sin (o - B) = sin (90° - 23)
=~ sin (ot - B) = cos2f3
3.3 2 cosec? 23° cot? 67° - sin?23° - 5in267°- cot?67° fEa® adeR T 17
(a) 1 (b) sec?23° (c) tan?23° (d)0
B (b) According to question,
= 2 cosec?23° cot? 67° - sin?23° - 5in?67°- cot’67°
= 2 cosec?23° cot? (90° - 23°) - sin?23° - sin%(90° - 23°)- cot?67°

= 2 cosec?23° tan? 23° - (sin%23° + c0s5223°) - cot?67°
2
cos223°

= 2 sec?23°-1-—cot? (90 - 23°)

— 1 -cot?67°

= 2sec?23°-1-tan?23°
= 2 sec?23°-(1+tan?23°)
= 2 sec? 23° - sec? 23°

= sec?23°

SguTdl & HeJ ider

1 A% 3tan0 =48 & —nb¥2c0s0 o o T B2 1

3 sinf-2 cosd

[l 3tan9=4=>tan9=§

3 sinf+2 cosé

3 sinf@-2 cos@

3tanf+2 .
= [ a=m &2 @ cos O & AT ¥ WR]
3x5+2
=(Xi+)=ﬁ=3 [tan @ =]
(3x3-2) 2 3
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,l/ )
© ?l ﬁmﬁgpar in;r{gu
2" Method
4 sin6 4
tanf=—=——=—
3 cosO 3
sinO=4,cos0=3

3sin9+2c059_3x4+2x3_g_
3sin—2cos® 3x4-2x3 6

\fsecE)—le\jsec8+l__J
secO+1 V\secO-1
secQ—1+ secH+1
secf+1 secf-1

_ (sec-1)+(secf+1) 2 sech _ 2secf
"~ J[(secO+1)(secO-1)  Vsec?9-1  +tan?6

2 secO
= = 2 secl .cotf
tanf

i1 @ cos@ 2
cos8  siné sin@

= 2 cosecH

7
If cosecB — cotB = - the value of cosecB is.

(a) il (b) =
Y 28
(c)
7
cosecB —cotB = =
= cosec O + cotB = %
2cosec@ =~ +2 =224 = 23 _ cosech = 2
2 7 14 14

A% cosB +secO =28, @ cos®O +sec’® N AT B ?

(a) 4 (b) 8 (c)1
(d)
cosO + Coie =2

= cos’0 -2 cos0 +1 =0
= (cosB -1)?=0

~cosB =1
6 60 = (16 4t — s
= c0s°0 + sec® 0 = (1) +(1)6 1+41=2

53
(c) ——

49
(d) =2
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Unleash the topper in you

a1

s @t @ Pevibiae sguar @ A

3 4
I x sin? 60° - 5 sec 60° tan?30° + - sin? 45° tan260°=0dd x Bam ?
1

(a) KT

(c)

) 3 4 .
x sin? 60° - 5 sec 60° tan?30° + = sin?45° tan?60° =0

= (9) - 2 () +ix () < (3) =0

4
(b) -4 (c) T (d) 2

=3—x—§x2xl+fx1x3=0

4 2 3 ' 5 2
=%—§x2x§+§x%x3=0
=3_x_1+E:0:>3_x:_1:>x: _lxi: _i

4 5 4 5 5 3 15

LsinZ cosZ—cotZ secE + i @B AA a2ER & 1

NG} 6 4 3 6 125in§
(a)0 (b) 1 (c) 2 (d) 3/2
(a)
R oy i
ﬁsmsc E T Eoky SBCE 123in§
oA gt . L ad2 h Al LEAGH o
V2T 2742 3TV3 0 12x1 4 3 12
_3-8+15 _

12

z:;zj + 2tan11° tan31° tan45°tan59° tan 79° — 3 (sin?21° + sin%69°) @1 #@
g -
(a) 2 (b) -1 (c)1 (d)o
(d)
Zzzi + 2tan11° tan31° tan45°tan59°tan 79° — 3 (sin?21° + sin®69°)

=5in39°. sec51° + 2 x1 -3 (1)
=1+42-3=0
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Unleash the topper in you

Preeibiate 2afe

35l.1 ﬂ%cos‘@—sin“:%,aﬁl—ZsinZB‘éﬁT e B-
(a) 4/3 (b) O (c) 2/3 (d)1/3
g (c)

_ 2
cos* —sin* ==,

. ) 2
= (cos?0 —sin?0) (cos? + sin%0) S

Put cos’0 =1 —sin’0

1 -2sin0 =2
3G1.2  (cosecH + sinB) (cosech - sin) a2@2 Blam ?
(a) cotb + cosB (b) cos? 6 +tan?®
(c) cot?0 + cos?0 (d) cot? B + cosO
&1 (c)
(cosecB + sinB) (cosecH - sinB)
= cosec? 0 —sin0 [ cosec?0 =1 + cot?0)]

=1+ cot’0 —(1—-cos?0) [+ sin?0 =1 - cot?0]
=1+cot?0 -1+ cos’0

=cot? 0 + cos? O

2" Method

(cosecO-+sin6)(cosecO—sinbd)
cosec?d —sin 20
1 sin’6_1-sin'8
sn® 1  sin0
_ (1—sin0) (1 + sin®0)

sin’0

~ cos’0 (1 +sin’0)

- sin‘0

_ cos’0 + cos’0sin’®  cos’ O N cos*0sin’0
sin’ @ sin’0 sin’0

=cot’0 +cos’0

3.3 AG cosA+cos?A =18 dl sin?A + sin®A @1 AT 1 BT ¢
B cosA+cos’A=1 - (i)

cosA = 1 — cos’A

cosA =sin’A [+ 1 —cos?A = sin?A]
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Unleash the topper in you

Tt

3ar.1

3Gl.2

&

3a1.4
&

& sin%A + sin®A
= cosA + (sin%A)?
= cosA + cos?A
=1

P gt @1 uReR

sinZ0 —3 sin® + 2 = 0 BT ARAIAD HIF FTBRT —

(a) 0° < B < 90° (b) 0°< B < 90°

(c)0=0° (d) 6 =90°

(d)

sinf8-3sinB+2=0 =sin’0—2sinB-sinB+2=0

=sinB (sinB@-2)-1(sinB-2)=0 =(sinB-2)(sinB-1)=0
=sinB =1 =5in90° = 0 = 90° = sinB * 2

gfe sin (A+B) = 1, ST8T 0< B < 45°, Tl cos(A - B) &1 AT T §ITTT ?

(a) sin2B (b) sinB (c) cos2B (d) cosB
(a)

sin (A+B)=1=5sin90°=> A=90°-B = cos (A — B) = cos A cosB + sinA sinB
= cos (90 - B) cosB + sin (90 - B) sinB =sinB cosB + cos B sinB

2 sinB cosB = 2 sin2B

Prelviiaer weidl @ Az a 7gaad Ha
2sin? 0 + 3cos? 0 T FYAAA AA AT Bl 1

25in? 0 + 3cos? O

=2sin%0 + 3(1 -sin% 0)

=2sin’0 + 3 -3 sin’ 0)

= 3-sin’0

sin@ &1 gferad A 1 B B |

3-sin* 0 &1 7IdaA Ald

2 —-sinf0=3-(1)*=2

4tan? 0 +9cot? O T FIFAaA A BlaM 1

(a) 13 (b) 12 () 1 (d) 6

(b)

4tan’? O + 9cot? O

7gAaH A = 2v/4 X 9 =2 x2x 3 =12

[-atan? © + beot? @ = T 7ggaA A = 2V ab]
T

5c059+3cos(9+ §)+3Eﬂ Gftan Si2 7gFIaA A T Bl 7

50058+3cos(9 + g) + 3
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Unleash the topper in you

Tt

= 5cos0 +§ cosf — %sin@ +3 = I?BCOSQ — ?Sinﬂ + 3

gferan a FgaaR A

2 ;| 2
£ + (30 =124 T = -
Sferman AT =+7+3=10
FIAA AT =-7 +3 = -4

Apcagyl Pewibiae 2pt W grenfea
3.1 I A+B+C =180° & @ tanA + tan B + tanC =
(a) 2tan A tanB tanC (b) tanA tanB tanC
(c) cotA cotB cotC (d) 3 tanA tanB tanC
&1 (b)
A+B+C =180°
=A+B=180°-C

=tan (A + B) =tan (180° - C)

tanA+tanB
=————— = —tanC
1-tanAtanB

=tanA + tanB =-tanC + tanA tanB tanC
=tanA + tanB + tanC = tanA. tanB . tanC

3.2 tanB (1 + sec20) (1 + sec4B) (1 + sec80) BT #GT A B2 ?

(a) tan 100 (b) tan 80 (c) tan 120 (d)1
& (b)

tanB (1 +sec20) (1 + sec4B) (1 + sec86)

1 1 1
=tan9(1+ )(1+ )(1+ )
cos26 cos46 cos8e
cos20+1 cos46+1 cos86+1
cos28 cos46 cos88

- tanB (2 coszﬂ) (2 coszzﬂ) (2 (.‘05249) [~ 1+ cos2f = 2 60329]

cos26 cos46 cos88
tan8 .cos?6.cos26.cos48

=8.

cos80
2.5sinf .cos0.cos26.cos48

cos8o
sin26 .cos208.cos40

= 4. [2 sinB .cosO = sin20]

cos80

sin46.cos40 sin8e@
=2 = = tan860

cos86 " cos86

3G1.3 tan 56° @1 A =T Bl ?
cos11°—=sin11°® cos11°+sin11°®
@ ——— —_—

(b)

cosl11°+sin11® sin11°—cos11°

(d)

cos11°+sin11° cosl1®°-sin11°®

(c)

sin11°-cos11® cos11°-sin11®
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Unleash the topper in you
& (b)
tan45°+tanll®
tan 56° = tan (45° + 11°) =
1-tan45°.tan11®
sin11°
1+tani1® 1+ s
- tan (56°) = = —<05%
1-tanli® 3
cos11°®

_ cos11°+sin11°®
"~ c0s11°—sin11°

Ssefnir ot W area

; ; 21 _ _Z
31 A 5|nA+smB-—E ,COSA + cosB = =
n<(A—-B)<3n 3, aacos(%) T AT J1d FHST |
=3 3 6 -6
@) 7 b) == (©) = (d) =
g (b)
SinA + sinB = 2l . (i)
65
cosA + cosB = — . (ii)
65

B0 B a B B A% DA U2

= sin?A +sin?B + 2 sinA.sinB + cos? A + cos?B + 2 cosA.cosB

65

( 21)2 I ( 27)2 _ 2124277 3%(7249%) _ 9(49+51) _ 9x130 _ 18

" 65 652 652 65X65  65X65 65

) 18
=2+ 2 (sinA . sinB + cosA. cosB) = =

: 3 9
=1 + sinA. sinB + cosA. cosB = pr

56
=cos(A-B)=— pr

A—B

= 2C052(T)—1: —%= 2 cos2 (T)= e Sl

= cos’ (A_B) e cos2 (A_B) =
- 2/ 130 2 /] V130

3Gl.2 %R c.cos? O + 3c.cos sinZ0 = m, c.sin®0 +3c.cos’ B sin@=n B d&@ [(m +n)*3] BT AL
Fa FHfswe |

(a) 1 (b) 2¢ 32 (c) 2c2/3 (dc
& (c)

c.cos® 0 + 3c.cosO sin?0=m. ............(1)

c.sin®0 +3c.cos?BsinB=n .............(2)
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nleash the topper in you

aAwzr (1) a (2), @ za =R
= ¢ (sin®0 + cos30) + 3c.sin O cosO (sinO + cosB) =m +n

= [(sin®0 + cos30 + 3 sinB cosb (sinB + cosB)] =m +n
=c(cosO +sinB)}=m+n
= (cosO + sinB)? ¢ =(m + n)*3

_ (m+n)?/3
T 23

FAwzr (1) a (2), @ aad R

= (cosB + sinf)* = 1 + 2 sinfcosb

¢ [cos0 - sin30 - 3 sin 0 cosO (sinO - cosB)] =m +n
=c(cosO -sinB)3 =m-n

= (m - n)¥® = ¢ (cosB - sinB)?

B (m+n)?/3
T e2/3

e (3) a (4), @ s W

_ (m+n)?/3  (m-n)?/3
T pEfa c2/3

= (cosf — sinf)* = 1 — 2 sinfcos6

=2

- (m _ n)2/3 4 (m ¥ n)2}’3 - ZCZ}’B
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